God-Lok,
www.fd-lok.com trmentaionSatons Gauge Valves and Instrument Manifolds

GaA-Lok,

ZHEJIANG FANGDUN INSTRUMENT VALVE CO.,LTD

No.177, Zhanwang Road,Longwan Industry Center,
Wenzhou,Zhejiang,China 325024

Tel: 86-577-8692 7952
Fax: 86-577-85989788
E-mali: fangdun@fd-lok.com ZHEJIANG FANGDUN INSTRUMENT VALVE CO.,LTD




Instrumentation Solutions

(02 Two-Valve Manifolds

06 Three-Valve Manifolds

08 Five-Valve Manifolds

10 Gauge Valves




Gauge Valves and Instrument Manifolds

Pressure up to 6000 psig(414 bar) for standard stainless steel body
Temperature for PTFE packing from-65°T to 450°T (-54°C to 23)2°C)
Temperature for Grafoil packing from-65°T" to 1200°F (-54°C t0 649°C)
Packing below stem thread isolates the thread lubricant from the media
Back seating design protects the packing in fully open position
Non-rotating stem tip

100% factory tested

Orifice:0.157"(4.0mm), CV:0.35

Standard Materials of Construction Technical Data

Valve body material
Temperature
31685 | Carbon Steel
3 4 Working pressure,
F o i
psig(bar)
-65~-20 -53~-28 6000(414) e
-20~100 -28~37 6000(414) 3000(207)
200 93 5160(356) 2730(188)
250 121 4910(338) 2695(185)
300 148 4660(321) 2660(183)
350 176 4470(307) 2615(180)
400 204 4280(295)
450 232 4130(285)
Handle color codes for functions: 500 260 3980(274)
BLACK=Isolate/block 600 315 3760(259)
RED=Test/vent
2 650 343 3690(254)
GREEN=Equalize
700 371 3600(248)
750 399 3510(242)
Wi Part Valve Body Material 800 126 3160(238)
316 S§ Alloy 400 Alloy C-276 850 151 33800232)
1 Handle Anodized aluminum 900 182 3280(225)
2 Set Screw Nickel cadmium-plated steel 950 510 3220(221)
3 Packing Bolt 321 $$/A276 1000 538 3030(208)
| 1050 566 3000(207
1 Upper Stem 316 SS/A276 : L
1100 993 2685(184)
5 . Lock Nut 316 SS/B783 1150 621 2285(157)
6 Bonnet 316 SS/A479 Alloy R-405/B164 Alloy C-276/B574 1200 649 1715(118)
7 Gland 316 SS/A276
8 Packing PTFE or PEEK or graphite
9 Lock Pin 304 35/A276
10| LowerStem Chrome-plated |y g 405/B164 | Alloy C-276/B574
316 SS/A276
316 SS/A479 Alloy 400/B164, E
. ol 316 SS/AL8? B127,8564 Al e DR
Lubricant Molybdenum disulfide-based

Process interface valves for sour gas service are available. Materials are selected in accordance
with NACE MRO175/1S0 15156. Contact the authorized representative or FD-lok if any request.

Two valves in one block for isolation, calibration, test and bleeding of instruments.

Two-Valve Manifolds

Basic Model Number

Inlet / process

Qutlet / instrument

Test / vent

-2D-F8-A

1/2" Female NPT

Flange(MSS)

1/4" Female NPT

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

@0.472"
— o120 Instrument
/ Test/
%
pe Vent
5 T
/@) E‘:’E o Isolate
= I Ll
1}_ _ﬁ+ \w \ | BN =] ,
el / 1 1t rocess
5| 2 ©
ol
' 2.94" -
787 J ol
(31.75)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-2D-F8-A 1/2" Female NPT Flange(M§8) 1/4" Female NPT
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
O\
™
2.125"
(54.0) Instrument
5 e (P1
O o B
e —= =
@ o . © Isolate Test/Vent
i 1 o~ e e =
4y 20472 AL S N
(@12.0) [T L
= Process
| | s »@
(44.0) (30.0) o
437"
(111.0)

Basic Model Numher Inlet / process Outlet / instrument Test / vent
-2D-F8-L 1/2" Female NPT Flange(MSS) 1/4" Female NPT
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

gy D0472" L3
@0~ e | &
== Instrument
S
%
, \@ &= a’
Sl 8
f\:: Q/ fN:} Isolate Test/Vent
| L1s | 1.25"
(30.0) (3175 Process
2.68"
(68.0)



Two-Valve Manifolds Two-Valve Manifolds

Basic Model Number Inlet / process Outlet / instrument Test / vent Basic Model Numher Inlet / process Outlet / instrument Test / vent
-2D-F8-H 1/2" Female NPT Flange(MSS) 1/4" Female NPT -2R-F8-V 1/2" Female NPT 1/2" Female NPT 1/4" Female NPT
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
$0.236"
. 2@ 60) —
2x (@iZ.O) Qé‘,ki""_ﬁ Instrument
M %
58 =
& - I =E 32
N Instrument es) e TestVent A A Isolate
_ | giitcta 1
®p b -
I R ST Process
(30.0) . _ Lo
‘—‘l" el 2.362 (31.79)
3.5 Isolate A A Test/Vent (60)
(88.9)
7.83"
(198.7) Process
W ') Y-
w 1 i o2
o C e g0 &
Basic Model Number Inlet / process Outlet / instrument Test / vent Basic Model Number Inlet / process Outlet / instrument Test / vent

1/4" Female NPT

-2D-F8-C 1/2" Female NPT Flange(MSS) 1/4" Female NPT -2R-F4-A 1/4" Female NPT 1/4" Female NPT
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
2125 D0.472" 9y £0.276"
EURNIRAR) i) TostVent
Ty ]
! :@ Instrument 'L:L_,J @ Instrument
[ - =4
1y L .g g e}_
Vo | A SE Rl N sl J Proess
; = _ M= H 1 =l
i i S| it i bt [ -4} } Isolate
{E} == est/Ven
& @ i i fh |\:‘
L L bd 10 4k 1.38" 0.53" :
NER ' Process (35.0) (13.5) L.12
(30.0) — 239" (28.4)
3.35" " :
(85.1) —(_EITZ%_)‘- (58.9)
437" :
(110.0)
Basic Model Number Inlet / process Outlet / instrument Test / vent Basic Model Number Inlet / process Outlet / instrument Test / vent
-2R-F8-M8-H 1/2" Male NPT 1/2" Female NPT 1/4" Female NPT -2R-F4-C 1/4" Female NPT 1/4" Female NPT 1/4" Female NPT
— 0.87"
D @20
?‘_ N Instrument
f
L Instrument (EE
() 4 fes %
@ A P Test/Vent § = [[[
|2 - | p0.276"
== f:ﬂw‘. \—( 270 Isolate x I Test/Vent
Isolate bk '
5 _ll i ég]g)" Process
R | rocess i
YRS b 2.00"
===l 1.25" (50.8)




Two-Valve Manifolds

Three-Valve Manifolds

Basic Model Number

Inlet / process

Qutlet / instrument

Test / vent

-2R-F8-L

1/2" Female NPT

1/2" Female NPT

1/4" Female NPT

2.32"
(58.9)

L1z ‘

(28.4)

Three valves in one block for isolation, equalization, bleeding of instruments.

Instrument Basic Model Number Inlet / process Qutlet / instrument Test / vent
@ -3D-F8-L 1/2" Female NPT Flange(MSS) Optional
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
Test/Vent Isolate
P .
TOCESsS 4 }(®0472

@12.0)

1 % Instrument
iy
L/

(o I ]
qr]:— @ N7 S ]
~|o e
Si=
2.125" I Process
50 125
9.51"
(140.0)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-3D-F8-A 1/2" Female NPT Flange(MSS) Optional
-3D-S8-A 1/2" FD-Lok Flange(MSS) Optional
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
Ax %?1'1;702; == Instrument
. o
&S Dp
i @: E=E | Equalize
e e bYoalE
&) &=
== 4 = Isolate Isolate
I Process
25"
(31.75)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-3D-F8-V 1/2" Female NPT Flange(MSS) Optional

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

N Instrument
- s
©) () 82
g
A~
® VO b —
o
\ & 25
h
A ©)
00472
o (@12.0) 2.125" Process
(54.0 375"
Ly 953)
87)



Three-Valve Manifolds

Basic Model Number Inlet / process Outlet / instrument Test / vent
-3D-F8-C 1/2" Female NPT Flange(MSS) Optional
-3D-$8-C 1/2" FD-Lok | Flange(MSS) Optional

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
Instrument

@iz

Five-Valve Manifolds

Five valves in one block for isolation, equalization, testing and venting of instruments

Test / vent

Basic Model Number Inlet / process OQutlet / instrument

1/4" Female NPT

1/2" Female NPT Flange(MSS)

-5D-F8-A

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

Process
Basic Model Number Inlet / process Outlet / instrument Test / vent
-3R-F8-V 1/2" Female NPT 1/2" Female NPT Optional
-3R-S8-V 1/2" FD-Lok 1/2" FD-Lok Optional
212 069 @ 0.276"
sl= (17.5) 2 (@7.0) — Instrument
===
:-‘IL_,_,__JU : p -
al o
} ﬁ» b Plug © Plug
-
Isolate Y Isolate

Pracess

Instrument
s s p Equalize
(=)
@0.472" =
-mizo &= P Test/ Test/
2125 Vent Vent
(54.0) 1 Process
295" .
(75.0) 1.25
433" (31.75)
(110.0)
5.60"
(142.0)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-5D-F8-C 1/2" Female NPT Flange(MSS) 1/4" Female NPT
-5D-58-C 1/2" FD-Lok Flange(MSS) 1/4" Female NPT
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

|
D0.472"

4—

1.0y
PN
.

2125
(54.0)

2.76"
(70.0)

Instrument

Equalize
Test/ Isolate Test/
Vent Vent
Process



Five-Valve Manifolds Gauge Valves

Basic Model Number Inlet / process Outlet / instrument vent Test
-5D-F8-B 1/2" Female NPT Flange(MSS) 1/4" Female NPT Option
-9D-58-B 1/2" FD-Lok Flange(MSS) 1/4" Female NPT Option
A valve with 3 outlets in one block for isolation, bleeding of instruments.

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

Basic Model Number Inlet / process Outlet / instrument Test / vent
-GV-M8-F8 1/2" Male NPT ‘ 1/2" Female NPT 1/2" Female NPT

~E
2= % Instrument
il A
r 1 wle= Plu
trﬁ: = g
1 o= Isolate
20.472" 1 =N N - Process Instrument
@10 ol ] : it =N T
~|= e b, J ) NS
e Process Vent Process g == had =l Test/vent
1.25" 297" | [ 150"
3175 (75.4) 5.375" (38.1) (31 izgﬁ)
(136.53) :
Basic Model Number Inlet / process | Qutlet / instrument Test / vent - -
SRFBA 12" Female NPT 172" Female NPT 174" Female NPT Basic Model Number Inlet / process Outlet / instrument Test / vent
-GV-M8-F8-E 1/2" Male NPT 1/2" Female NPT 1/2" Female NPT
m@) Instrument
() % %5
=
i ({1
Test/ VY VoV Test/ Isolate
205" Vent Vent z A - Process Instrument
(52.0) 1.125" Process . B@[ j@ ==
5.20" (28.6) 4.80" | | 150" =4 - Test/vent
1320 (123.0) 7.05" (38.1) 125"
(184.15) (BL79)
Basic Model Number Inlet / process ' Outlet / instrument Test / vent
-5R-F8-L 1/2" Female NPT 1/2" Female NPT 1/4" Female NPT
-5R-S8-L 1/2" FD-Lok 1/2" Female NPT 1/4" Female NPT Basic Model Number Inlet / process Outlet / instrument
-GV-M8-F8-C 1/2" Male NPT 1/2" Female NPT
)
Instrument s =
N Isolate
gal = Process Instrument
] FF:::\&
B Equalize i ! m|E Test/vent
== o [ —
SE Test/ Isolate Test/ i "t::}/
Vent Vent L% o —
= Process ‘ 3.69" 113"
L 93.7) (28.6)
1.25"
(31.79)

[110]



[231S U0QJBD $1S1|0Q 40 [BLIB}EW PIBPUR]S BY]

jleway
Buinl aqny IS
4OT-04 2U3el
Buinl aqny g
-(14 |euoijoel4
uisyed papuaixg M01-Q4 | ah i
e ddsgaen | O
[BJUOZLIOH SIAJBA an
SN 4dsg ajeway A9
flleatuap sanjep Q_m_“b " i — .
pajunojy onm_ _aw_ @ uogie
S 4 o) | ™ ¥ SS 91 | 19
adf) 10edwo) adfy 33ju1 ayy se Aem T T = S |15
uorauny ales ay} u payloads W0/ TR " —
azi[enba ajqnoq 18|ul se aweg ‘adiy Y W8/E 1dN 21El W
LdNopwed /1 [dl| | los o = LN @ Sor Iss
Uialjed ajguy (SSIN)aBuel4 :adky 0 "
oN | T —— |
7 alag Ieugien
9zl adk £1 1910 ——sal | fno
[eLsale T 1S 1 az15 13|u| adfL yo1u) pog
s3n|d ' sMod 153l Sunjoeq

7 1BAND | 18np

]

uoneuLIoju| suLapiQ




	阀组20130529-+9.1+-1
	阀组20130529-+9.1+-2
	阀组20130529-+9.1+-3
	阀组20130529-+9.1+-4
	阀组20130529-+9.1+-5
	阀组20130529-+9.1+-6
	阀组20130529-+9.1+-7
	阀组20130529-+9.1+-8

